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Code.No. 041
· Please check that this question paper contains 2 printed pages

· Code number given on the right hand side of the question paper should be written on the title page of the answer book by the candidates.

· Please check that this question paper contains 9 questions.

· Please write down the serial number of the question before attempting it.

MATHEMATICS

Time allowed: 80 minutes]




 [Maximum Marks: 25
General Instructions:
1. Attempt all questions.

2. Do not write anything on the question paper.

3. This paper contains three parts. Section A contains 4 questions of 2 marks each. Section B contains 3 questions of 3 marks each. Section C contains 2 questions of 4 marks each.

4. Marks for each question are indicated near it.
Section A
1. a. Find an acute angle θ satisfying the equation
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b. Evaluate:
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2. Find a cubic polynomial p(x) with the sum of the zeroes, sum of product of its zeroes taken two at a time and the product of its zeroes are 0,
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3. The H.C.F of two numbers is 119 and their L.C.M is 11781. If one of the numbers is 1071, find the other.
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4. Prove that 
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is irrational. 
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Section B 
5. Show that one and only one out of n, n+2 or n+4 is divisible by 3, where n is any positive integer. 
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6. Prove that 
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3
7. Find all zeroes of the polynomial x3 + 3x2 – 4x – 12 if one of its zeroes is –3. 
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Section C
8. If (,( and ( are the zeroes of a quadratic polynomial ax2+bx+c, prove that   (+(+( = 
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Verify these relations for the polynomial f(x)=6x2 – 3x   
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9. A man standing on the top of a tower on the sea shore finds that it takes 10 minutes for the angle of depression, of a boat coming towards him, to change from 300 to 600. How soon will the boat reach the shore?
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